[ Efficiency vs vertpos |

Efficiend

~ 0.05

10 0?
TP vertr (cr%)

—=— DQMstep3 TT_CKF
—e— DQMstep3_TT_default
—+— DQMstep3_TT_defaultNEWTepol10

9.045F - eeen
4 : :
>0.04------ Feeeeennd
o . .

U . .
D.035F -+ |-f
o : :
003 fok
© : :
0.025F -5l |F

0.02F -1
0.015F -+ JH oo JAH
0.08 5| Jaltt} - .
0.005F- -+ { :

Ratio

............................

s

-30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

N 0.02r

..............................

..............................

10
Sim. PV z (cm)




	Contents
	Page 1


